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BRAINWARE UNIVERSITY

Term End Examina on 2022

Programme - Dip.CSE-2022/DMLT-2022/Dip.ME-2022/Diploma in Robocs &
Automaon-2022/Dip.EE-2022/Dip.CE-2022

Course Name — Communica on Skills in English/EnglishCommunica on

Course Code - HS101/HU101
( Semester|)

Full Marks : 30 Time : 1:30 Hours

[The figure in the margin indicates full marks. Candidates are required to give their answers in their
own words as far as practicable.]

Group-A
(Multiple Choice Type Question)
1. Choose the correct alternative from the following :

1x15=15

(i) Anticipate, at what point does the story - 'The Gift of the Magi', has a rising action?
E When both fall sad of their sacrifices Rl Pella hurrle'dly.moves P and'sells
her hair, so as to rise in hope of happiness
c) When Della hurries home to curl her short  d) Jim arrives home, and is shocked to see

hair before Jim arrives. Della's short hair.
(ii) The communicator is the person who initiates the conversation and
that he intends to convey it to others.

a) concludes the process b) brings out the summary
c) listens for conclusions d) conceptualizes the idea

(iii) The sender’s knowledge, skills, perception, background, competencies, etc. is required
in the of communication.

b) decoding process

d) encoding process

a) channelization process
c) listening process

(iv) He bought mangoes from this shop.

a) a few . b) the few
c) a little d) some
(v) Jimmy did not travel to London. (Choose the correct alternative)
a)a b) an
c) the d) none of these

(vi) Heis University Professor.

a)a b) an
c) the d) none of these
(vii) 'l entered the room and switched on the light.' (Identify the type of sentence.)
a) Simple b) Compound
c) Complex d) Infinite
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5 4 (viii) This is one of the best

bbdk that | have bought this year.' Locate which part of the °

sentence has an error? e
v t | have 2
isi t book b) tha
a) This is one ofthe'bes 9 d) No error

c) bought this year :
(ix) 'Rakesh has been studying Englis tify the tense of the sentence.)

h since morning.' (Iden
a) Perfect Tense b) Past Continuous Tense
- ; d) Future Perfect Tense

c) Present Perfect Continuous Tense : e A i
(x) Choose the correct answer when you change the Voice of the following: ‘A terrible

mistake has been made by a teenager.’
a) A teenager has done a terrible mistake. b) A terrible mistake is done by a tegnager.
c) A teenager had done a terrible mistake. d) A teenager has made a terrible mistake.
(xi) Every night before | go to bed, | have milk. (Identify the dependent Clause)
; b) before | go to bed
d) Every night before | go to bed
logise for his prank.' - Decide upon the

a) Every night
c) | have milk
(xii) The teenager is being asked by the family to apo
right statement when you change the Voice of the given sentence. :
b) The family is asking the teenager to
apologise for his prank.
c) The teenager is asked not to apologise for d) The family asked thg teenager to apologise
his prank. for his prank.
(xiii) The albums, which are lost, are not really necessary. (Choose what kind of clause is the
subordinate clause here)
a) Adjective Clause b) Adverb Clause
c) Noun Clause d) None of these
(xiv) | lost my pen. (Modify the sentence and make it passive)
b) My pen is lost by someone.

a) The teenager is asked to apologise for his
prank.

a) My pen is lost.

c) My pen is lost by me. d) | have not lost my pen.
(xv) Due to a lack of production an increase of
housing prices, Liverpool is now ranked as one of the least affordable cities.
a) both, and b) never, before
c) neither, nor d) and, but
Group-B
(Multiple Choice Type Question) 3x5=15

2. Choose the correct alternative from the following :

(i) The shepherd took the cattles to the field. (Apply your grammatical skills to find the
correct sentence)
a) The shepherds took the cattles to the field. b) The shepherd tooks the cattles to the field.
c) The shepherd took the cattles to the fields. d) The shepherd took the cattle to the field.
(i) Evaluate, what does the "magi" of the title refers to?

a) b) three men who travelled a great distance to
bring valuable gifts for Mother Mary
d) three wise men who invented the art of
: giving Christmas presents."
(iii) Oh, gnd the next two hours tripped by on rosy wings'. Estimate the meaning of this
particular portion.

three wise men of England

c)

three women who were very beautiful

a . .
) ite wings of flowers can make everyone fly b) Della felt as if she was flying on flowery
to heaven wings over the air, out of her joy of getting

; Jim a nice gi
¢) these two hours were dreadful, as della felt d) e
nervous and extramely fearfyl : None of these

(iv) "Had the queen of Sheba lived

X in th ;
ol R i the i b e flat across the airshaft, Della would have let her

€ day to dry just to depreciate Her Majesty's jewels and
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gifts." Anticipate, what does this portion mean?

a) It means, Queen of Sheba would have b) It means, Queen of Sheba who lived across
envied Della's hair and felt that all her Della's flat was actually poor but pretended
to have jewels

d) It means, Della is jealous of Queen Sheba's
beauty and wanted to have her jewels all to

jewels were no more of worth
c) It means, Queen of Sheba's jewels had
already depriciated in value by being
stocked and stored underground herself
(v) Thisis one of the best book that | have bought this year.' (Which part of the sentence
has an error? )

a) This is one of the b) best book that |
c) have bought this year d) No Error
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